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. 2)  Figures to the right indicate full marks.
Q1) Select the correct alternative from the following. [10]
1) established the first experimental laboratory of psychology.
a) Watson b) Wundt
c) Skinner A d) Adler
i A Correlation indicates that as the value of one variable
increases, the value of other variable will also increase.
a) Negative b) Positive
€] ‘zero d) none of these
iii) has done a deep study of the figure and ground principle.
P a) Rubin b) Watson
c) Biderman d) Pamar
iv) Is one of the monocular cues of depth perception.
a) Relative motion b) Emotion
c) Simplicity d) Similarity
v) Scientists have explained a total of sleep stages.
a) Three b) Two
c) Four d) Five
vi) Operant conditioning theory is introduced by
a) B.F. Skinner b) IvanPavlov
¢) Freud d) Jung
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vii) Classical conditionf%x__é expe;iment was conducted on animal.
a) Horse \c s b) Cat
¢) Dog S d) Rat
viii) The structure of long term memory prepared by
a) Wagh and Norman b) Freud
c) Watson d) Kohler
ix) There are different types of encoding.
a) Three b) Five
¢) Two d) Six
X) Introduced the psychodynamic approach.
a) Maslow ' b) Watson
¢) Freud d) Rogers
Q2) Write a short note on any four out of six. = [20]

a) Humanistic Approach

b) Principles of perceptual organization

c) Perceptual illusions

d) Skinners Operant conditioning experiment
e) Memory Process

f)  Autobiographical Memory

03) a) What is psychology? Explain the correlation method of research? [10]
OR
b) What is perception? Explain Depth perception.

04) a) What is learning? Explain the nature of classical conditioning. [10]
OR

b) What is memory? Explain nature of short term memory.
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